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1 100kN/mM#%#B 25 1.00| 000 ~ 040 10587 [3mZ#EZ 5D -~ — — —| 100kN/mi%#8%%| 100 [12.72 ~ 14.03 105.87 [3m%Z#EZ 5 -~ - - -
zhnLs 1.00| 040 ~ 8.18 100.00 [ ZH 15t | 000 ~ 8.18| 2.54 13.59 Thns 1.00] 5.00 ~ 12.72 100.00 | #Hli5t | 500 ~ 1403 | 2.54 13.59
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st 1.00 | 000 ~ 723 9202 | #hiust | 000 ~ 7.23 | 2.41 12.89 Fhst 1.00 | 500 ~ 10.00 9202 | #hiist | 500 ~ 10.00 | 2.41 12.89
5 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 1.00 | 000 ~ 752 9622 | #h s | 000 ~ 752 2.38 12.71 Fhst 1.00 | 500 ~ 1050 96.22 | h kst | 500 ~ 1050 | 2.38 12.71
4 100kN/mi%#8%2%| 100| 000 ~ 068 110.06 |3m%#Z3 -~ - - —|[ 100kN/mM%E#%%| 1.00|10.71 ~ 12.62 110.06 |3m%#Ai3 -~ — — -
Zh st 1.00 | 068 ~ 8.46 100.00 | ZhList | 000 ~ 846 | 2.29 12.23 Fhst 1.00 | 500 ~ 10.71 100.00 | #h kst | 500 ~ 1262 | 2.29 12.23
5 100kN/mi##8%%| 1.00| 000 ~ 0.36 10529 |3m%#Ai3 -~ - - —|[ 100kN/m%#2%%| 1.00 |10.63 ~ 11.59 10529 |3m%E#Ai 3 -~ — — —
Zh st 1.00| 036 ~ 8.14 100.00 | Zhkist | 000 ~ 8.14| 2.26 12.09 Thst 1.00 | 500 ~ 10.63 100.00 | #h kst | 500 ~ 1159 | 2.26 12.09
6 100kN/m##8%25| 1.00| 000 ~ 0.09 101.31 |3m%#2 3 -~ - - —|[ 100kN/m%#%%| 1.00 1053 ~ 10.77 101.31 |3m%#B2A3 — ~ — — —
Zh st 1.00| 009 ~ 787 100.00 | #hkist | 000 ~ 7.87| 217 11.61 Zhst 1.00| 500 ~ 1053 100.00 | Zhlist | 500 ~ 1077 | 2.17 11.61
. 100kN/m##%%| 1.00| 000 ~ 0.10 101.51 |3m%#A3 -~ - - —|[ 100kN/m%E# %% | 1.00 |10.64 ~ 10.92 10151 |3m%E#BA5 -~ — — -
Zzh st 1.00| 010 ~ 789 100.00 | Zhkist | 000 ~ 7.89| 212 11.33 Fhst 1.00| 500 ~ 1064 100.00 | #h kst | 500 ~ 1092 | 2.12 11.33
8 100kN/m##8%%| 1.00| 000 ~ 0.74 11097 |3m%#Zi3 - ~ - - —|[ 100kN/m%#%%| 1.00 |1058 ~ 12.68 11097 |3m%E#Ai3 — ~ — — —
Zh st 1.00| 074 ~ 852 100.00 | #hkist | 000 ~ 852 | 224 11.99 Fhst 1.00 | 500 ~ 1058 100.00 | #h kst | 500 ~ 1268 | 2.24 11.99
0 100kN/mi%#8%2%| 100| 000 ~ 067 109.98 |3m%#Z 3 -~ - - —|[ 100kN/m%E#E %% 1.00 (1054 ~ 12.44 109.98 |3m%#A 3 -~ — — -
Zhst 1.00 | 067 ~ 8.46 100.00 | ZhList | 000 ~ 846 | 2.21 11.84 Fhst 100 | 500 ~ 1054 100.00 | Zhlist | 500 ~ 1244 | 2.21 11.84
10 100kN/mM#Z#BZ % — -~ - —|3m%EBZ D -~ — - —| 100kN/mM%Z#BZ % — -~ — —|3m&#ER5 -~ — — —
zhns 1.00| 000 ~ 7.01 8891 ZhLis | 000 ~ 0.00| 1.64 8.78 Thst 1.00] 500 ~ 9.13 88.91 | ZhLis | 500 ~ 9.13 | 1.64 8.78
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zhst ~ zhs ~ Ths ~ Thst ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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